T ‘ Y \ 2
Sb( ) toX = -!i Soght ) (wt‘)our:ig o % d 5
)

]

N

&
( < = z
g& j(j’(+)3 QJ>(('l') AL S 3 j(jﬁ)dKY % g =it
A

N -t,l o A |

xl [ M

A:Sc&)/ G=jt‘€.)

(
(1et* = 2t

i ‘ K\ /
| LOiet™) N = SCie D 2T
~ e
{r; cHt"b*g/t (\v«T™) - T
\

\
= s S‘ Cl-\-’tL)Co\C:’}LE [‘_G*T‘)S_l,

o

]



6 J ¢
Q Ci-T) a L = = S ((=Tt) ¢='D oA
N—
v
r wiEy
(,“t) = —| (= &(.(.)._._ (-~ T

N

(=]

2]

f
C =ty ) =07 Ci-tyS. =)

(SER-10) tamenyar=-g Lot 1 =

e ——

I I3 o 6 t | Il Nyo
— dvw = t (—1y & —
§ (== &‘ x| oA |

1=x=t eTATS 9CR g = A-T  zarq $lty = ~|



© . BN (
NV 39 =0591°.0 489

1

"

:
g o Cl=%x) dx . =

M)

X )= -1 ¢ e

l
% C(~t)- t¥ -udt :S (ts\-'t‘)okx
{

‘P‘ tty=(—\)



(< | ¢ 3
> g Cratl) dx = g t“"&"q‘
(=}

t=22xt) ETHIPS 2 X = gt =

2
1 ts 73 = f 5_ 2%
(x|
c

-
-—

{( L+ f )S\ 3/= 5‘(1)&“)*- 2

*| 0 A
$ F< & P )
81

> 3
2%

’ ! Y -
L SR M R AR
(e}






3C>(l\a): D(-l*'x‘d*"ol\‘to .

0

1 l P
<<L;7 )(3),G0)

R
[ii1=d=3
1 ¢ %
\
ey tY adfr < G+ »cud-&ocz-\co
9 = SOCE (aetme ey _ ‘W*\J<t‘3x"
N =
Pixy = R%“X‘*\B’C” -
2
Cf((o):~ j)g( ! ) -
93(‘*,!} 2.
~ Po (o,
ﬁm X0 A °J~(,= Xty
[ \ o 3
Cf(b): . 37; (.Pa) a(,Pa)
(o,
33 1) 3X—LP°) 39nL( D 39\-{]( )

) %Uceﬂ) 97%,(\3113&3






2
wt + x Py + Py —

/
(59)=5"g-59'
T T [ gt ox @ + atym)@: o

( L x t P
c\f()(): —— ‘ %3(0)31

o t 2 (?ng) (3)‘ - (2'—

| | \
D 2 T Cy(cx)-l- { \f(tan) + % Py

—" 2 Q?‘nc)‘ \f(uu)
+ 2‘?&)t)9‘>“(1c)—3 O
9 —~+ 9 { t pI (\ 0
¢ ° 2(5?) T oo p + > ¢

()

(h

( (
I 2L T+ 2%y + 2 (Qe(x\)z

g
1]
)

9<—+ 2 T(1L)



I

\J



'\







LY -A X
x® AR dr_  _ R o
= L (U ae
; | R 1o o
SR KT ye N A
")
/
= - g l{ 2 (e_%,ks d‘)L
(o)
R
- - * —A% R - A X
= [ X & 30 <+ g 2. @ d
o}
. * AR * { —-AX !
‘{ < + ‘2-' S x (-.: e ) o\~
o
- L ~ ‘{ €L — e R 2 "{ Cax
) N (_5'(. ¢ ]o +I &o Q a
2. -aR R
= TR - —<Re ‘_9. Al -A X
2 >R N
= - 2 AR o CNR
) - Re TRy e +_>\7,
Rx2aesn R* \ QAP—B'L o R\ a R — O
Qul A% PR e)P-" N R
xR



=2 Cx*) =

3



3 |
CLs g —_— &

| Cat + )2

(l) ( e —13

—— ol 1<

O (‘L~x)‘:s
) S(L)( f?n d >C
| £ =\">_~Lg.

L) ‘
gb t | et A

(s g' £ log (1eThy ok

L T
6) g { e o
B (1t v )

9 | Sy tt '
) qa T e*” ol C3) g (x40 Cr=1)dx

=
L9) %\ ((x+l)3'C>ﬁ~\)Ld)&-
= oy

Ly



